1. ¥%4
kG4 B0 4 R O X SRR P
BT AT BE AR UR R P A T 3 FEE ~ A P A R T R [ b N

1) FEEFA B A 48 7) fE T F R IR
2) FEBHA IMTEREF AT TR 8) H X 22X
3) EEBES 22873540020006 9) Wl - B
4) RIXSy Eff @zat) ONEs 10) BEHENA B AF 1A
5) AR L 1) Frgss 55 0%
6) JE1THIH 713 HH B &F0 44 4719H 1 2) HifffiE 4R A B A4 4R
(447) £ & 64 3A31H 13) HhEMEA B A4 4R
(# mEH) = £ A A 14) AR |
15) RiSKVEH M
BaoLz ES 1ok
3. PHAH
1) THAA 2) H 3) HoO#Msy 4) HEA

-1- FEszdmd  H E TR



AR

HEBL | DTN 4K X R 3R E A at¥ER
H H B
THH - THE - fER - K BT i BT & F B S RANEIR i
SR TS
Y 1 81, 697, 280
[
Y 1 81, 697, 280
oS

(5Fn 4 %) X 1 39, 979, 520

EAEHATH oL E
X 1 25, 097, 600

R Y He s " 2 =
= 1 14, 881, 920

oS

(45Fn 5 %) X 1 41, 717, 760

EAEHATH s E
X 1 26, 188, 800

ST ™ 4 5
Y 1 15, 528, 960

-1- [E -2z PIEHG AR R



RE PR

B | B0 4FEE KM X B E ETER
H H Tée%
THE - T - FER - M5 prkiS HAAT B =S i KR Ho SEEHE T
rag
= 1 2,754, 200
Te+%
= 1 2, 754, 200
revmas
= 1 2, 754, 200
et neeE
= 1 2, 754, 200
[EREZ
= 1 750, 666
[R5 ¢
= 1 750, 666
TR AL
= 1 750, 666
BB M 6 =
= 1 750, 666

-2 - FEszdmd  H E TR



RE PR

B | B0 4FEE KM X B E ETER
H H EHEEM (ZOMBEMER<)
TEHH - IR - f - M) HAE BT & =S i AFA Fe R BB fi

EREF A (Z OB <)

= 1 85, 202, 146
Z O F AT

= 1 45, 477,121
— e B

=X 1 70, 370, 733
SEmEs

=X 1 201, 050, 000
THE B %0

=X 1 20, 105, 000
E S

= 1 221, 155, 000

-3 - FEszdmd  H E TR



N = iﬁ Al 4 A 2022. 04
/ﬁ( W :R SEEMER | 2022. 04
H = TR 1. 000-0000-0000-0000-0000-1-0 0
=2 FHEME
LW - B M HAL & 448 T L
EEHATE  (BFLATA) N =
= 21, 785, 600
BB EN S T4 g 8 &
= 3,312, 000
25, 097, 600
= iﬁ B 6 FH AF H 2022. 04
yﬁk W 5] SEEAER 2022004
H = ESHEEIER | 1.000-0000-0000-0000-0000-1-0 0
=2 HY R
LT - B 1 HAAT e 4%H HE
YRS (BEiTR) M 9 =
= 13, 006, 500
I S T 2Y ) 10 &
= 1, 875, 420
14, 881, 920

FEszdmd  H E TR



N = iﬁ Al 4 A 2022. 04
/ﬁ( W :R SEEMER | 2022. 04
H = TR 1. 000-0000-0000-0000-0000-1-0 0
=2 FHEME
LW - B M HAL & 448 T L
FLHEME (FEfA) N1 e
= 22,732, 800
B T noE
= 3, 456, 000
26, 188, 800
= iﬁ B 6 FH AF H 2022. 04
yﬁk W 5] SEEAER 2022004
H = ESHEEIER | 1.000-0000-0000-0000-0000-1-0 0
=2 HY R
LW - B 1 HAAT e 4%H e
YRS (BEiTR) N 13 B
= 13,572, 000
I S T 2Y W 14 &
= 1, 956, 960
15, 528, 960

FEszdmd  H E TR



N = =+ HA 8 4 A 2022. 04
/ﬁ( I; ‘| ﬁR Bt 14 2022. 04
— = 95 B AR 1. 000-0000-0000-0000-0000-1-0 0
BENCE
Gs HAL E6as X D
Bk N5 5
2 2, 754, 200
2, 754, 200
N = iﬁ B 4 A 2022. 04
/ﬁ( M ER SREEAE S | 2022, 04
= FESFEAEHE | 1.000-0000-0000-0000-0000-1-0 0
) i Gk ¢
14 BT B Sl LS
et W16
= 163, 936
[ERFZEX W17 B
= 586, 730
750, 666

FEszdmd  H E TR




